35XX-12-30 15 30 M12x1.75 25 35 4 5

35XX-16-35 | 22 35 M16x2.0 35 50 4 12
35XX-20-47 | 27 47 M20x2.5 60 60 5 20
35XX-24-54 | 32 54 M24x3.0 60 80 5 25
35XX-30-72 | 40 72 M30x3.5 80 | 120 6 40

b

36XX-12-40 | 16 40 | M12x1.75 | 18 12 8 5
36XX-16-54 | 22 54 M16x2.0 24 15 13 12
36XX-20-69 | 28 69 M20x2.5 30 22 15 20
36XX-24-78 | 32 78 M24x3.0 36 23 18 25
36XX-30-103 | 40 | 103 | M30x3.5 45 28 22 40
/ 37
37XX-06-40-CP | 10 | 40 M6x1.0 16 6 4 40 2
37XX-08-40-CP | 12 | 40 M8x1.25 16 8 6 40 3
37XX-10-50-CP | 16 | 50 M10x1.5 22 9 8 50 4
37XX-12-55-CP | 18 | 55 | M12x1.75 | 25 10 8 60 5
37XX-14-60-CP | 20 | 60 M14x2.0 28 10 | 10 | 100 8
37XX-16-70-CP | 22 | 70 M16x2.0 32 1 10 | 100 12
37XX-20-80-CP | 28 | 80 M20x2.5 38 15 12 | 100 20
37XX-24-100-CP| 32 | 100 | M24x3.0 50 | 18 | 12 | 100 25
37XX-30-120-CP| 42 | 120 | M30x3.5 60 | 26 | 22 | 120 40
68
68XX-12-60-CP | 18 | 15 | 25 |M12x1.75) 83 | 20 | 8 | 70 | 63 | 88 | 90 | 180
68XX-14-60-CP | 19 | 15 | 25 | M14x2.0 /103 | 20 | 10 | 80 | 7.0 | 102 | 100 | 200
68XX-16-70-CP | 22 | 20 | 25 | M16x2.0| 103 | 23 | 10 | 100 | 7.3 | 145 | 105 | 210
68XX-16-100-CP| 22 | 20 | 25 | M16x2.0| 103 | 26 | 10 | 100 | 129 | 145 | 150 | 300
68XX-20-100-CP| 27 | 22 | 3 | M20x2.5|124| 30 | 10 | 100 | 143 | 17.6 | 150 | 300
68XX-24-120-CP| 34 | 25 | 4 | M24x3.0 | 144 | 38 | 12 | 100 | 193 | 254 | 240 | 480
50

XX=40 50 55

T/CCES 6003-2021

T/CCPA 73-2025

3.0 4.0

ELRETIESHR

40 55 55 75 95 115 120 165 200
55 65 65 85 100 135 140 200 250
65 85 75 95 105 140 165 240 260
85 120 95 100 120 150 180 300 280
120 140 100 110 140 170 240 340 500
hmm) 240 170 120 120 150 200 300 500 700
240 170 170 165 210 400 1000 1200
270 210 180 200 340
240 240 300 540
300 340 540 650

amm) 19 26 36 36 47 47 70 70 88
b(mm) 25 35 45 50 60 70 85 98 135
dimm) 10 14 18 20 24 28 34 39 50

2025.03

50 120 20 36 42 20 35.8 ®18

10.0 180 28 46 57 25 44.8 @22

<ECIUREE TR

20.0 250 39 69 76 37 57.9 ®32

AR BEEE. BWR/

V(4
Wav
WA E S

MODERN BUILDING

X E R m

S X BIIRDE
2803

Fax: +86-755-83467136
http://www.xdyz.com.cn

Bt S
<7 Add:

AllmMEESHXBIRSE

SHENZHEN MODERN BUILDING TECHNOLOGY CO.,LTD.

y [ \4
QS

s Tel: +86-755-83558535
WXE L

MODERN BUILDING E-mail : szxdyz@163.com



JG/T398

BEHREERERRASY

(JGJ355)

““TM

MS/MCIRiREIE{iEBI%

1 |GTB4Z-12C| 12 36 4 22 | 134 | M13x2.0 18 26 75 96-116
2 |GTB4Z-14C| 14 38 4 24 | 153 | M147x2.0 | 21 26 91 112-132
3 |GTB4Z-16C 16 40 4 26 172 | M16.7x2.0 24 26 107 128-148
4 |GTB4Z-18C| 18 42 4 28 | 191 | M19x2.5 27 26 123 144-164
5 |GTB4Z-20C| 20 44 4 30 | 210 | M21x2.5 30 26 139 160-180
6 |GTB4Z-22C| 22 48 | 5~4| 32 234 | M23x2.5 33 26 155 176-196
7 |GTB4Z-25C| 25 53 | 6~4| 35 | 262 | M26x3.0 | 375 26 179 200-220
8 |GTB4Z-28C| 28 61 | 6~44| 43 | 291 | M29x3.0 42 26 203 224-244
3
HREHURSERERFRASY

1| GTQ4z-12| 12 36 4 22 15 240 39 174 96-116 11121

2 | GTQ4Z-14| 14 38 4 24 15 272 39 206 112-132 | 127-137

3|GTQ4z-16| 16 40 4 26 15 304 39 238 128-148 | 143-153

4| GTQ4z-18| 18 43 4.5 28 15 336 39 270 144-164 | 159-169

5| GTQ4z-20| 20 45 4.5 30 15 368 39 302 160-180 | 175-185

6 | GTQ4Z-22| 22 48 5 32 15 445 26 393 195-215 | 212-222

MMM THEERERRASH
1 | GTB4J-12 12 2 34 4 22 151 M13x2.0 21 30 75 96-116
2 | GTB4J)-14 14 2 36 4 24 168 | M14.7x2.0 22 30 91 112-132
3 | GTB4J-16 16 2 38 4 26 185 | M16.7x2.0 23 30 107 128-148
4 | GTB4J-18 18 2 40 4 28 203 | M19x2.5 25 30 123 144-164
5 | GTB4J-20 20 2 45 5 31 220 | M21x2.5 30 30 139 160-180
6 | GTB4J-22 22 2 48 B 34 243 | M23x2.5 33 30 155 176-196
7 | GTB4J-25 25 2 52 6 36 272 | M26x3.0 38 30 179 200-220
8 | GTB4J-28 28 25 63 75 43 304 | M29x3.0 40 30 204 224-244
WHENI T EEREGRASEH

1 [ GTQa-12] 12 2 38 3 28 | 250 30 190 15 96-122 [ 111-121

2 | GTQ4)-14| 14 2 38 3 28 | 282 30 222 15 112-138 | 127-137

3 [ GTQ4-16] 16 2 42 3 32 | 314 30 254 15 128-154 | 143-153

4 | GTQ4J-18| 18 2 44 31 | 338 | 346 30 286 15 144-170 | 159-169

5 [ GTQ4)-20| 20 25 44 31 | 328 | 375 30 315 15 160-185 | 175-185

6 | GTQ4J-22| 22 25 47 35 35 | 407 30 347 15 176-201 | 191-201

7 | GTQ4)-25| 25 29 | 525 | 41 | 385 [ 455 30 395 15 200-225 | 215-225

8 | GTQ4J-28| 28 35 59 4.5 43 503 30 443 15 224-249 | 239-249

9 | GTQ4)-32| 32 35 66 55 48 | 650 30 590 15 302-322 | 312-322

10 | GTQ4)-36 | 36 4 75 6 55 | 730 40 650 15 342-362 | 352-362

11| GTQ4J-40| 40 4.5 84 6.5 62 | 810 40 730 15 382-402 | 392-402

25 MS25 38 MC25 51
30 MS30 38 MC30 51 BAfT: mm
40 MS40 38 MC40 51
50 MS50 38 MC50 5T \MSEFIEEHERTR. S5t
60 MS60 38 MC60 51 ARE—MIERES50-63mmEER
70 MS70 38 MC70 51
80 MS80 38 MC80 51 MCRFIERHERTR. FhitE
90 MS90 38 MC90 51 |AEEEHAT3IMmEIER
100 MS100 38 MC100 51

AG/ST

MT

MS/MC

ccC

MC45D

HEKE

E

>

nE

m!

i

S

HEK

CCRIBERMFR T RIIRERTEE

CC100-XX
110 CC110-XX
120 CC120-XX
130 CC130-XX
140 CC140-XX
150 CC150-XX

EBURRIREE
E100mmKLAE
RAMS/MCS
CCraEefsEm
BAR: mm

"XX" SO HEREE

A, INUERE—EEE
50-55mmis, HHEIRE
40mm;

A, SNUEREERT
55mmit, fHERES0mMmm

XDYZ-FA-T-H-W 1.5/2.0

FENRBEZFRTRT-RE

150/175/180/190/200/210/
225/240

80/120/160/200

150/175/180/190/200/210/220/225/240

$HE (ART) $HE (NRFI)

80/120/160/200

FENFBERERTRT-HE

[160/180/200. 160/180/200.
XDYZ-SPA-A-04-H| 4.0 £20/225/250 XDYZ-SPA-N-04-H | 4.0 220/225/250
[160/180/200. 160/180/200.
XDYZ-SPA-A-05-H| 5.0 £20/225/250 XDYZ-SPA-N-05-H | 5.0 220/225/250

160/180/200/220/225/250




